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qBqWhpg¾ 
(\¥Op^r EdXp) 

HISTORY 
(Punjabi Version) 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 10 \¥²y¾ + 1 `p²¾qM§Wc 
h²¾¾ & 

 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 
`t§I \¥²y¾ Wy kcvc qd§IV & 

 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 17 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 10 printed pages + 1 Map. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 17 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 

SET-1 
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qeAp\H q²¾cYyf : 

(i) gpcy \of²¾p£ Yy E¨Wc qYE & HtP \of²¾p£ dBr A¥Ycv²¾r qeHd\ qY§Wy 

JBy h²¾ & hc qBH \of²¾ Yy A¥H EgYy gp`ªVy A¥qHW h²¾ & 

(ii) \of²¾ g¥qIAp 1 W~ 3 Y} A¥H epdy h²¾, hc qBH \of²¾ Yp E¨Wc  

30 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± & 

(iii) \of²¾ g¥qIAp 4 W~ 9 Mpc A¥H epdy h²¾ & hc qBH \of²¾ Yp E¨Wc 

100 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± & qeqYApcXr ²¥¾v qBg I¥T 

W~ Hyed \¥O \of²¾ hd Hc²y¾ MphrYy h²¾ & 

(iv) \of²¾ g¥qIAp 10 `t§d AZpcW \of²¾ h± AWy kcvcr h±, qBh \of²¾ er 

Mpc A¥H Yp h± & 

(v) \of²¾ g¥qIAp 11 W~ 13 A§S¾ A¥H epdy h²¾ & qB²¾ªp£ hc qBH \of²¾ Yp 

E¨Wc 350 f^Yp£ W~ eZrH ²¾hs h}Vp MphrYp h± &  

(vi) \of²¾ g¥qIAp 14 W~ 16 gc}Wp£ Wy ApZpqcW h²¾ & qB²¾ªp£ qeM H}Br 

A¥Ycv²¾r qeHd\ ²¾hs h± & 

(vii) \of²¾ g¥qIAp 17 `p²¾ qM§Wc g¥̂ ¥Zr h±, qO²¾ªp£ qeM dNVp£ ²¥¾v \qhMpV} 

AWy `hWe\vcV `Yp£ ²¥¾v YcgpVp fpq`d h± & `p²¾ qM§Wc ²¥¾v E¨Wc 

\tgWH Yy A¥Yc ²§¾Xr Hc} & 

I¥T A 

hyS¾ qY§Wy JBy gpcy \of²¾p£ Yy E¨Wc qd§I} : 23=6 

1. \tcpW§We qeqJAp²¾rAp£ ²y¾ hm§\p Hpd Yr gq_AWp qeM qfd\ EW\pY²¾ HzYc 

Yr \NpV Yy ApZpc Yp ecV²¾ Hc} & 2 
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2. _pcW qeM `vJd fpg²¾ Yy Y¡cp²¾ \zTv \¥MpqBWp£ Yy dJp²¾ (revenue) Yy gc}Wp£ 

Yr qeApqIAp Hc} & 2 

3. 1859 qeM A¥JoyOp£ cphs \pg HrWy JBy ‘\qcgr`²¾ H²¥¾v²¾’ Yy \c_pe Yr Op£M 

Hc} & 2 

I¥T B 

_pJ I  

hyS¾ qdqIAp£ qeM~ qHgy \¥O \of²¾p£ Yy E¨Wc qd§I} : 45=20 

4. ‘‘hm§\pBr g`pO qeM `tfqHd ³±gdy d±V AWy E²¾ªp£ E\c A`d h}V Yy g¥HyW 

q`dYy h²¾ &’’ qBg HX²¾ Yy g¥Yc_ qeM g\fR Hc} qH Hr hm§\pBr g`pO 

qeM fpgHp£ Yp fpg²¾ qchp h}eyJp & 4 

5. 600 Br.\v. (BCE) W~ 600 Br. (CE) Yy Y¡cp²¾ q\¥Tp£ qeM cqhV epdy d}Hp£ Yr 

`pdr (ApcXH) AWy g`pOH hpdWp Yp ecV²¾ Hc} & 2+2=4 

6. ‘‘qB§^²¾ ^WvWp ²y¾ _pcWr E\ `hp£Yr\ Yy f±hcp£ ²¥¾v d}Hp£ Yy dBr ^m EHgpF 

Aegcp£ ²¾pd _c\vc YyqIAp &’’ qBg HX²¾ Yr qY§dr fqhc Yy g¥Yc_ qeM 

qeApqIAp Hc} & 4 

7. ‘‘qIdp³W Yy Zpc`H AWy cpO²¾rWH g¥gXp Yy cv\ qeM eZYy h}By _}WHepY 

(\YpcXepY) Yy ³dgecv\ gv³repY Yp qeHpg h}qBAp &’’ g\fR Hc} & 4 
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8. 1857 Yy O²¾ qeYc}h qeM AeZ Yy WpdtHyYpcp£ Yr gqh_pJWp Yr Op£M Hc} & 4 

9. _pcW qeM ^gWrepY g`z qeM HtPHt \hpmr Xpep£ (qhd gRyf²¾) qHE¤ 

qeHqgW HrWy JBy ? g\fR Hc} & 4 

_pJ II  

 `t§d ApZpqcW \of²¾ (kcvcr) 41=4 

10.           ‘‘1922 WH Jp£Zr Or ²y¾ _pcWr cpfRcepY ²¥¾v qBHY` ^Yd qYWp AWy 

qBg Wcp£ ³cecr 1916 qeM ^²¾pcg qh¥Yv av²¾recqgRr qeM Ap\Vr WHcrc 

qeM HrWy JBy qBHcpc ²¥¾v E²¾ªp£ ²y¾ \vcp HrWp & Eh qBh qgc³ e\pcrAp£ AWy 

^t§ZrOrerAp£ Yp hr A¥Y}d²¾ ²¾hs cqh qJAp gr, htV hkpcp£ Yr qJVWr qeM 

qHgp²¾p£, `kYvcp£ AWy HpcrJcp£ ²y¾ er qBg qeM qh§gp d±Vp ftcv Hc qY§Wp & 

qB²¾ªp£ qeM} HBr Ap\Vp Jp£Zr Or Yy dBr ApYc YcgpV Yy dBr E²¾ªp£ ²¥¾v 

Ap\Vp ‘`hpW`p’ er HqhV dJ JBy & E²¾ªp£ ²y¾ qBg Jd Yr Wpcr³ HrWr qH 

Jp£Zr Or E²¾ªp£ ecJy H\my \qh²¾Yy g²¾, E²¾ªp£ Yr Wcªp£ hr cqh¥Yy g²¾ AWy E²¾ªp£ 

Yr hr }̂dr ^}dYy g²¾ & h}c ²y¾Wpep£ Yr Wcªp£ Eh gpZpcV O²¾Wp£ W~ eI ²¾hs 

Imy ht¥Yy g²¾ ^dqH E²¾ªp£ ²¾pd h`YcYr cIYy AWy E²¾ªp£ Yy ²¾pd Tv¥Ky g¥^¥Z er 

^Vp d|Yy g²¾ &’’ 

 E\c qY§Wy JBy \±cy Yr c¡f²¾r qeM Jp£Zr Or cphs YcgpBy JBy qHgy Mpc `tdp£ 

²¥¾v EOpJc Hc} & 4 
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I¥T C 

 d¥ ŷ E¨Wc epdy \of²¾ 83=24 

11. ^§tZ Zc` Yp qeHpg qHez h}qBAp ecV²¾ Hc} & ^t§Z YrAp£ t̀§I qgqIApep£ Yr 

qeApqIAp Hc} & 4+4=8 

Op£ 

 gWv\p£ qHez ^VpBy JBy ecV²¾ Hc} & gp£Mr Yy gWv\ gtcqIAW chy, \c 

A`cpeWr Yy gWv\ gtcqIAW ²¾hs chy, AOyhp£ qHE¤ h}qBAp ? g\fR Hc} & 4+4=8 

12. _pcW qeM `tJd fpgHp£ cphs e§I} e§I OpWrAp£ AWy Zc`p£ Yy Htdr²¾ ecJ Yy 

d}Hp£ Yr _cWr qHE¤ HrWr Op£Yr gr ? qeApqIAp Hc} & 8 

Op£ 

 `tjd gp`cpk qeM fphr \cepc YrAp£ qBgWorAp£ cphs q²¾_pBr JBr _vq`Hp 

Yr qeApqIAp Hc} & 8 

13. ‘‘erhes gYr Yy ftcvApWr YhpqHAp qeM ftcv h}Br g¥\oYpqBH cpO²¾rWr Yyf Yr 

e¥T Yy dBr `t§I W¡c Wy Ot¥`yepc gr &’’ HX²¾ Yr Op£M Hc} &  8 

Op£ 

 ‘‘_pcW Yr e¥T Yy Hpc²¾ cpfRcepYr ²y¾Wp eIcr q²¾cepMHp Yy \ogWpe Wy h}c 

_mHV dJ JBy g²¾ &’’ HX²¾ Yr Op£M Hc} &  8  
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I¥T D 

 gc}W AZpcW \of²¾ 73=21 

14. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

‘E¨MW’ g`pOH ³ck 

`hp£_pcW Yy ApqY\ce²¾  W~ qB§Xy qBH HhpVr qY§Wr JBr h± : 

qBH epcr ^oph`V Yo}V Yy H}d, O} qH Htcv e¥f Yy cpOHt`pcp£ ²¥¾v 

WrcA¥Ypkr Yr qgqIAp YzYy g²¾, ByHdea ²¾p` Yp ^²¾epgr q²¾fpY 

(qfHpcr Ht²¾^y Yp) ApqBAp & Yc}V ²y¾ O} Zc` g`PYy g²¾, Eg ²¥¾v 

qff (fqJcY) Yy cv\ qeM gerHpc Hc²¾ W~ `²¾ªp£ Hc qYWp & 

ByHdea ²y¾ O¥Jd qeM epq\g Op Hy q`§Rr W~ Yo}V Yr qBH v̀cWr 

^VpBr AWy Eg²¥¾v Ap\Vp Jtcv `¥²¾ Hy Eh Ap\Vy Ap\ Wrc MdpEV 

Yp Aq_Apg Hc²¾ dJp & g`z Yy ²¾pd Eh Wrc MdpEV qeM `pqhc 

h} qJAp & qBH qY²¾ Htcv cpOHt`pc Ap\Vy Ht§Wy Yy ²¾pd O¥Jd qeM 

qfHpc IyTYy h}By ByHdea Yy ²¾kYrH \ht¥M JBy & Ht§Wp Hpdy qhc²¾ 

Yr M`mr Yy egWc qeM d\yRy h}By q²¾fpY ²¥¾v YyI Hy _¡HV dJ  

q\Ap & Jt§gy qeM ByHdea ²y¾ g§W Wrc qBHSy¾ Mdp Hy Eg Ht§Wy Yp 

`v¥h ¥̂Y Hc qY§Wp & OY~ Eh Ht§Wp epq\g ApqBAp Wy \p£Te 

Wrc¥YpOr Yp qBh AOr^ ²¾kpcp YyI Hy h±cp²¾-\cyfp²¾ h} JBy & E²¾ªp£ 

²y¾ ByHdea ²¥¾v dq_Ap, Eg²y¾ Ap\Vy Ap\ ²¥¾v Yo}V Yp Mydp YqgAp & 

Yo}V ²y¾ Ap\Vy q\Apcy Mydy AcOt²¾ ²¥¾v qBH epcr qHhp gr qH, E²¾ªp£ Yy 

gpcy qf§fp£ qeM~ Eg Yp H}Br `tHp^dp ²¾hr Hc gHyJp & AcOt²¾ ²y¾ 

Yo}V ²¥¾v E²¾ªp£ Yp epqBYp apY HcepqBAp & Yo}V ByHdea Yy H}d JBy 
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qOg²y¾ E²¾ªp£ ²¥¾v Ap\Vp Jtcv `¥²¾ Hy ²¾`gHpc HrWp & EY~ Yo}V ²y¾ Jtcv 

Y§IVp Yy cv\ qeM ByHdea H}d} EgYy g§Oy hX Yp A¥JvS¾p `¥J  

qdAp & ByHdea ²y¾ qBH Y` Jtcv ²¥¾v Ap\Vp A¥JvS¾p HR Hy Yy  

qY§Wp & htV ByHdea Wrc MdpV qeM EW²¾p Wyk ²¾hs qchp & qBg 

Wcªp£ Yo}V ²y¾ AcOt²¾ ²¥¾v qY§Wp eM²¾ q²¾_pqBAp : H}Br er AcOt²¾ W~ 

^yhWc Wrc¥YpO (Z²¾®Zpcr) ²¾hs qchp &     

(14.1) Yo}V ²y¾ ByHdea ²¥¾v Ap\Vp qff ^²¾pV W~ qHE¤ `²¾ªp HrWp ?  2 

(14.2)  Yo}V ²y¾ AcOt²¾ ²¥¾v qY§Wy Ap\Vy \oV ²¥¾v qHez \vcp HrWp ? 2 

(14.3) Hr Wtgs Yo}V Yy ByHdea ²¾pd ecWpe ²¥¾v E¨MW g`PYy h} ? Oy AOyhp 

h± Wp£ HpcV qdI} &  3 

15. hyS¾ qY§Wy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

H§pqd²¾ `±Hzkr 

1754 qeM O²¾ ỳ H§pqd²¾ `±Hzkr ²y¾ qBH qB¥Orq²¾ac, gceyIH AWy 

²¾Hfp ²¾erg Yy cv\ qeM `fhvcr \op\W HrWr &  1815 qeM Eg²¥¾v 

_pcW Yp \qhdp gceyac O²¾cd ^VpqBAp qJAp AWy 1821 qeM 

Ap\Vr `¡W WH Eh qBg AhtYy Wy ^Vy chy & _pcW Yy AWrW ²¥¾v 

M¥Jr Wcªp£ g`PV AWy ^gWr Yy \ofpg²¾ ²¥¾v Agp²¾ ^²¾pV Yy dBr 

E²¾ªp£ ²y¾ qBqhWpg ²¾pd OtmrAp gXp²¾H \c¥\cpep£ Yp g¥Joqh HrWp AWy 

qBqWhpgH Xpep£ Yp q²¾crIV Hc²¾p ftcv HrWp & Eh Hqh¥Yp h± qH 

‘‘q^oqRf \ofpg²¾ Yy M¥Jy \o_pe hyS¾ ApV W~ \qhdp£ Y§IVr _pcW 

Icp^ \o ¥̂Z²¾ ²¾pd d¥̂ y g`z WH OvPYp qchp &’’ qeO± ²¾Jc Yy 
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AqZA±²¾ W~ `±Hzkr ²¥¾v qBh qefepg h} qJAp qH H¥\²¾r, ‘‘gXp²¾H 

d}Hp£ Yy AdJ-AdJ H^rqdAp£, qOhmy Eg eHW er A^pYr Yp 

qBH e§Tp qh§gp g²¾, ²¥¾v htV er \o_peW Hc²¾ epdy qB²¾ªp£ qeM~ HBr 

g¥gXp²¾p£, H²¥¾v²¾p AWy crWr qcepOp£ Yy qefy qeM ^htW Ipg 

OpVHpcrAp£’’ \op\W Hc gHYr gr & 

(15.1) H§pqd²¾ `±Hzkr H¡V gr ? 2 

(15.2) `±Hzkr ²y¾ qeO± ²¾Jc gp`cpO Yr ²¾es I}O Yp \Wp qHez HrWp ? 2 

(15.3) BrgR qB¥TrAp H¥\²¾r Yy dBr qeO± ²¾Jc gp`cpO Yp AqZA±²¾ qHez 

E\a}Jr gr ? 3 

16. hyS¾ qYWy \±cy ²¥¾v qZAp²¾ ²¾pd \m}ª AWy EgYy hyS¾ qYWy \of²¾p£ Yy E¨Wc qd§I} : 

‘‘H§d Agr ²¾`H Yp H²¥¾v²¾ W}mp£Jy’’ 

5 A\o±d, 1930 ²¥¾v `hpW`p Jp£Zr ²y¾ Yp£Tr qeM qHhp gr : 

      htV `| Ap\Vy gpXrAp£ Yy ²¾pd Yp£Tr Yy Eg g`t¥Yor qH²¾pcy 

epdy R}dy Yy ed MqdAp gr Wp£ `±²¥¾v aHr²¾ ²¾hs gr qH gp²¥¾v qBXy WH 

ApV qYWp OpByJp & OY~ `| gp^c`Wr qeM gr Wp£ er qBh A³eph 

gr qH `±²¥¾v Jqc³Wpc HrWp Op gHYp h± & Wp£ `| g}qMAp gr qH 

gcHpc `ycy gpXrAp£ ²¥¾v Wp£ Yp£Tr WH ApV YyeyJr \c `±²¥¾v q^dHtd 

hr qBh N}R ²¾hs q`dyJr & OyHc H}Br qBh Hqh¥Yp qH qBgW~ `ycy 

qYd Yr AZvcr ApgXp Yp qBfpcp q`dYp h± Wp£ `| qBg YvfV ²¥¾v 

²¾Hpcp£Jp ²¾hs & `| qB§Xy WH \ht¥qMAp hp£, qBg qeM fp£Wr AWy 

Aqh¥gp Yp KR hX ²¾hs h±; qBg fHWr ²¥¾v g_ `qhgvg HcYy h²¾ & 
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OyHc gcHpc Mphy Wp£ Ap\Vy qBg ApMcV Yy dBr Ap\Vr q\§S¾ S}¾H 

gHYr h± qHE¤qH gcHpc Mpht¥Yr Wp£ gpTy qeM~ hc qBH ²¥¾v Jqc³Wpc 

Hc gHYr gr & OY~ gcHpc Eh Hqh¥Yr h± EgYy H}d fp£Wr Yr g±²¾p 

²¥¾v Jqc³Wpc Hc²¾ Yr qh¥`W ²¾hs gr Wp£ Ags EgYr Wcr³ HcYy hp£ 

qH gcHpc ²¥¾v AOyhr g±²¾p Yr Jqc³Wpcr qeM fc` `qhgvg ht¥Yr  

h± & OyHc H}Br qeAHWr AOyhp H¥` Hc²¾ qeM fcq`¥Yp `qhgvg 

HcYp h± qOhmp EgYy Jep£UrAp£ ²¥¾v er cpg ²¾hs Ap gHYp, Wp£ Eh 

qBH q²¾`cWp epdp qeAHWr h± & gcHpc ²¥¾v gp²¥¾v ²¾p Jqc³Wpc Hc²¾ 

Yr eZpBr qYWr OpVr MphrYr h±, _pez E²¾ªp£ ²y¾ Yt²¾rAp£ Yy ^pHr d}Hp£ 

Yy `§W Yp qZAp²¾ HcHy hr qBh ³±gdp qHE¤ ²¾hr qdAp h}ey & 

      Hd Ags ²¾`H Hc Yp H²¥¾v²¾ W}mp£Jy, gcHpc qBg Jd ²¥¾v 

^cYpfW HcYr h± qH ²¾hs, qBh qBH eIcp gepd h± & h} gHYp h± 

gcHpc gp²¥¾v AOyhp ²¾p Hc²¾ Yyey & \c gpTy OXy Yy ^pcy O} ZrcO 

AWy g`PYpcr qYIpBr h± EgYy dBr Eh eZpBr Yr hHYpc h±... & 

      OyHc ±̀²¥¾v JtOcpW AWy Yyf _c Yy gpcy `t§I ²y¾Wpep£ ²¥¾v 

Jqc³Wpc Hc qdAp Op£Yp h± Wp£ Hr h}eyJp ? qBh A¥Y}d²¾ qBg 

qefepg E\c AZpcW h± qH OY~ qBH \vcp Yyf ES¾ Im~Yp h± AWy 

AJy e§ZV dJYp h± Wp£ Eg²¥¾v ²y¾Wp Yr d}m ²¾hr cqh Op£Yr & 

(16.1) OY~ `hpW`p Jp£Zr ²y¾ Yp£Tr apWop ftcv HrWr gr Wp£ E²¾ªp£ ²¥¾v qHhmy Tc 

g²¾ ? 2 

(16.2) Jp£Zr Or ²y¾ AOyhp qHE¤ qHhp qH qBgYy dBr gcHpc eZpBr Yr 

hHYpc h± ? 2 

(16.3) ‘²¾`H apWop’ ^htW `hWe\vcV qHE¤ gr ? 3 
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I¥T E  

 (`p²¾qM§Wc g¥^¥Zr \of²¾) 51=5 

17. (17.1) _pcW Yy qY§Wy h}By cpO²¾rWH cyIp-`p²¾qM§Wc (\¥²¾p 11 Wy) E\c hyS¾ 

qdqIAp£ ²¥¾v UtHez qM²¾ªp£ ²¾pd YcgpG AWy E²¾ªp£ Yy ²¾p` qd§I} : 12=2 

 (C) A¥q`oWgc — cpfRcr A¥Y}d²¾ Yp `hWe\vcV HzYc 

 (A) ApJcp — ^p^c Yy AZr²¾ IyWc 

(17.2) _pcW Yy qY§Wy JBy qBg hr cpO²¾rWH cyIp-`p²¾qM§Wc qeM, qW¥² \o t̀I 

^}Z gXdp£ ²¥¾v A, B AWy C ²¾pd A¥qHW qHWp qJAp h± & qB²¾ªp£ gXdp£ 

²¥¾v \NpV} AWy ²¾kYrH qI§MrAp£ JBrAp£ cyIpep£ E\c E²¾ªp£ Yy ghr ²¾p` 

qd§I} & 13=3 

 

²}¾R : hyS¾ qdIy \of²¾ Hyed qYofRr qeHdp£J \orqIApcXrAp£ Yy dBr \of²¾ g¥qIAp 17 

Yy Xp£ Wy ^Ydey \of²¾ h²¾ : 

(17.1) cpfRcr A¥Y}d²¾ Yy qHgy qBH HzYc Yp ²¾p` qd§I} &  

(17.2)  ̂ p^c Yy AZr²¾ qHgy qBH IyWc Yp ²¾p` qd§I} & 

(17.3) qHgy qW¥²¾ ^}Z gXdp£ Yy ²¾p` qd§I} & 1+1+3=5 
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\of²¾ g¥. 17.1 AWy 17.2 Yy dBr 

_pcW Yp cyIp-`p²¾qM§Wc (cpO²¾rWH) 

Outline Map of India (Political) 

 
 

100  


